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Flam=ER @ %)
HEERETIER 0.20 0.33
MEERETIER 4.47 6.95
HEREDRIRIER 0.14 0.17
AR R 3.6 361
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R (P flak | FRIBH
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R (B At | FEBH
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3. ERBEXICHT2DPOHBEE. MEEMEDTORSEHECAROTHIESICLVELELTHIET,

X100

X100

Ay - FEEE

EsERFImIY 1.81 2.03 1.88 1.70 1.69 1.76
EEFERM 1.51 0.43 1.50 1.42 0.32 1.38
wEER 0.30 1.59 0.38 0.27 1.36 0.37

(BB %)

chERAR 71.10 — 70.95 71.33 — 71.18
HAth¥g 71.02 — 70.86 70.53 — 70.38

tPRIRAR 25.04 2,051.70 29.16 26.00 1,653.19 29.46
HAth¥g 25.87 1,985.02 30.16 26.82 1,763.69 30.54

1SS DFEE - BHXERE @1 HHM)
Es 16,946 17,242
HHe 12,024 12,273

EEEIAHEEYOFEE - BHEERS @z EHM)

A 1,174 1,194

= faskd 833 850

(F) SHEOEREBIEEEHIHPTHABTEELTHIFT,
BH. EEHBICIABAEZSATHIET.
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